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QUESTION 1

True or false: only Terminal nodes (Graphs, Modeling, Output, Export) have a Run button as displayed in the graphic. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

True or false: the CRISP-DM Process Methodology is a linear process. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

Which node can be used to easily generate a field that divides the data into subsamples for the Training and Testing
stages of modeling? 

A. Sample 

B. Filler 
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C. Balance 

D. Partition 

Correct Answer: D 

 

QUESTION 4

Examine the Data Audit output shown below. 

What action will occur in a generated Outlier and Extreme Supernode for HOLCOST? 

A. Nine records will be set to the system missing (null) value for HOLCOST. 

B. Ten records will be deleted. 

C. Ten records will be set to the system missing (null) value for HOLCOST. 

D. Nine records will be deleted. 

Correct Answer: B 

 

QUESTION 5

Which node can be used to impute (estimate) missing values? 
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A. Data Audit node 

B. Balance node 

C. Filler node D. Reclassify node 

Correct Answer: A 
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